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Four lines are required for the pattern shown below

The horizontal lines have different spacing, so two definitions are required, but the spacing between the different coloured lines is the same. The
difference between the two is only the Y (vertical) offset.

The vertical lines have the same spacing in the X direction, but are different lengths, so two definitions are required. They start at different places
and have different lengths for the lines and spacing. The spaces in the one are the same as the lines in the other.
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Angle is horizontal (0), starts at 0,0, consecutive lines start at the same place (Y axis), consecutive lines are at 300mm spacing, they are
continuous so no dashes or spaces.

Red lines
Angle is horizontal (0), starts at 0,100 (100mm from the X axis), consecutive lines start at the same place (Y axis), consecutive lines are
at 300mm spacing, continuous so no dashes or spaces

Magenta lines
Angle is vertical (90), starts at 225,0 (225mm from the Y axis), consecutive lines start at the same place, consecutive lines are at 450mm spacing,
the lines are 200mm long and the spaces are 100mm.




